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2N sHEZE A
B Y=o AW FU(SYHYSL/SY - SE)
Chel: SUEIIY 1 (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 AtR22id] 4,900 5,000 A 100
Osg&d RAJ3 = 4,900
301 dE8BAMZ 5,600 5,600 0
10 SEAAHIEAZ 5,600 5,600 0
O=sgad A3 A AHIEA 5,600
AEy=ae| 29 (=21) 92,553 92,553 0
= 92,553
201 B9y 15,893 15,893 0
= 15,893
01 ArR2t2|tl 15,893 15,893 0
OLdAHF =& 15,893
= 15,893
202 O4H| 17,160 17,160 0
= 17,160
01 =Z2Woib] 17,160 17,160 0
ogzme =& 17,160
2 17,160
308 AXISHHMSOIHA 59,500 59,500 0
= 59,500
01 AXNSHHIABEXTZ 59,500 59,500 0
OAlZ SH2A2HR F&X 59,500
= 59,500
sA2AZI/AKE 29 (=21) 57,600 62,400 4,800
J| 57,600
308 XAXIEHXMSOIA 57,600 62,400 A4,800
J| 57,600
01 XXNHHBIAZXZ 57,600 62,400 4,800
OsXN&2fds 29 57,600
J| 57,600
ZEEAH 43 XA (=21) 2,157,200 0 2,157,200
g 1,625,000
== 532,200
201 B2 IH| 3,000 0 3,000
g 3,000
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_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
TEEET] 3,000 0 3,000
OBASAIYAH 2 3,000
2 3,000
202 O4Hl 20,000 0 20,000
s 20,000
01 =LAl 10,000 0 10,000
CZI=YEAHAH ZREFA 10,000
2 10,000
04 =Mzt 10,000 0 10,000
OZASAIYAH 2 10,000
s 10,000
301 Lptsazg 2,000 0 2,000
s 2,000
10 BAMHENS 2,000 0 2,000
CEEETEEPNE LI 2,000
2 2,000
308 NXIHHSOIH 624,000 0 624,000
s 480,000
= 144,000
01 NXHHMILEXS 624,000 0 624,000
CEEESEEPNC 624,000
2 480,000
= 144,000
403 XXISMS K201 1,508,200 0 1,508,200
2 1,120,000
= 388,200
01 XXIEHX2EX 1,508,200 0 1,508,200
OZY=sHElAH 1,508,200
s 1,120,000
= 388,200
SHES SN (2D) 3,700,000 4,576,000 876,000
s 3,700,000
403 XXIEHSA201H 3,700,000 4,576,000 A876,000
s 3,700,000
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el ST EI|Y 1S (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 XXSHA=2EX 3,700,000 4,576,000 A876,000
OSstEs=4dAY 3,700,000
g 3,700,000
AASE BEAMIEM(ZD) 32,000,000 32,000,000 0
= 32,000,000
308 AHXISHHMSOIHA 32,000,000 32,000,000 0
2 32,000,000
01 AXSHHIABELTZ 32,000,000 32,000,000 0
OMASENIMEFI =AM 32,000,000
= 32,000,000
0=2sexdel® X2 (=21) 318,000 791,000 A473,000
= 300,000
& 18,000
403 XXIESHHMSA=20lH 318,000 791,000 473,000
= 300,000
= 18,000
01 XXESHMA2EE 318,000 791,000 A473,000
OlI=s& el & XA 318,000
= 300,000
o= 18,000
ZEtd 2280 MAAE XA 225,000 225,000 0
403 XXISHHSA20|H 225,000 225,000 0
01 XXSHA=2EX 225,000 225,000 0
ORI ESH2ANO| MAAL 225,000
SEMASH(EHAH)(21) 1,000,000 0 1,000,000
g 1,000,000
308 AXISHHMSOIHA 140,000 0 140,000
g 140,000
01 AXSHHIABETZ 140,000 0 140,000
OXNE=sgE2HAH 140,000
iy 140,000
403 XNXESHHSA=20IN 860,000 0 860,000
g 860,000
01 XAXESHMA2EEX 860,000 0 860,000
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01 KXSHHBLZES 90,225 73,650 16,575
O&EEstHE Xt &=t 82,875
2 63,750
= 19,125
CEEE R 7,350
= 7,350
s EH 29 30,000 30,000 0
307 2IZ2t0lA 30,000 30,000 0
02 gltFaEx 30,000 30,000 0
OYRSHARY 29 30,000
sHME R2SKE 97,977 98,892 A915
308 AtXISHH SO0I& 97,977 98,892 A915
01 AXHHBAEXS 97,977 98,892 A915
OSHsABH 02 RS 97,977
s IRotL=Hl X (21) 2,535,000 3,438,123 A9083,123
= 1,950,000
& 585,000
308 XXIEHMSO0IE 2,535,000 3,438,123 A903,123
2 1,950,000
& 585,000
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oo Meseol S4 (&9 d2)
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202 (44l 3,500 2,400 1,100
01 =Wobl 3,500 2,400 1,100
OMET U 22B S 3,500
307 9I2t0lH 140,000 140,000 0
02 BIZHANE X 140,000 140,000 0
ool A 140,000
SHOEN 2 HH=sFAHOM (=) 95,900 83,300 12,600
= 95,900
308 XXIESHMSOIHE 95,900 83,300 12,600
= 95,900
01 AANSHZNTES %900 83,300 12,600
O=LOIEH L HASEAQI 95,900
2 95,900
sgFIHLEE XA (=) 600,000 400,000 200,000
= 600,000
308 XXIEHMSOIA 600,000 400,000 200,000
2 600,000
01 XXHNBINEXZ 600,000 400,000 200,000
osYRAANLY N 600,000
= 600,000
sgol MEUE 29 374,000 374,000 0
403 XXISHMSAH201& 374,000 374,000 0
2 ZoBSUTE R AR 374,000 374,000 0
OEYUYTE HSOIY 24,000
OS0UATLATLE 2 350,000
FHsEEHC uK(=1) 52,000 72,800 A 20,800
= 40,000
& 12,000
308 XXIEHMSOIA 52,000 72,800 A 20,800
2 40,000
& 12,000

| BMEXS 52,000 72,800 20,800

O=H=sgZde u=x 52,000




e R E=E<E!
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= 20,000
& 12,000
SHESHZUE 2F(=21) 1,600,000 1,200,000 400,000
= 960,000
< 640,000
307 920l 1,600,000 1,200,000 400,000
= 960,000
& 640,000
02 QUAFAEX 1,600,000 1,200,000 400,000
O=ESHSHE 23 1,600,000
= 960,000
= 640,000
SEsIt SEASE 2F(=1) 576,000 0 576,000
= 480,000
& 96,000
03 THSHS KO0 576,000 0 576,000
= 480,000
< 96,000
01 XXX A2EX 576,000 0 576,000
OMESI BRASE 75 576,000
= 480,000
= 96,000
YAsENY g (sHWL /5 - &) 61,531,800 49,748,200 11,783,600
= 649,600
s 47,705,000
& 13,177,200
SEME0Es 349 43t 901,800 822,400 79,400
2 649,600
& 252,200
SMHEME0S ARE HEXA(21) 249,600 168,000 81,600
= 249,600
308 XXEHMSOIHE 249,600 168,000 81,600
=2 249,600
01 XXSHNBINEXEZ 249,600 168,000 81,600
OEMNENENIE ASE WSS 249,600
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Mol YRASENY FAS(SYHYLM/5L - 5E)

Sl SEBYI|E B (£ &%)
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
=M=E B0 Z4(2D) = 390,000

403 X XSHSXHZ0H 1,690,000 1,950,000 260,000
= 1,300,000
= 390,000

01 KX E 2 E 1,690,000 1,950,000 260,000
O=MsEHEHS T4 1,690,000
2 1,300,000
= 390,000

SQsEE BRI (2 D) 325,000 0 325,000
= 250,000
= 75,000

403 XXISHS K201 325,000 0 325,000
= 250,000
= 75,000

01 XXCSHZRE 325,000 0 325,000
OsASEHNZAEY 325,000
2 250,000
= 75,000

SEXY H 58,615,000 46,402,200 12,212,800
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Mg AL (2 D) 23,000,000 23,000,000 0
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CINEE PN 15,282,000
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= 7,718,000

01 KXCSHAESE 7,718,000 13,800,000 6,082,000
CINEE PN 7,718,000
2 7,718,000

MsHEAL2S 2243t =& 227,000 245,200 A 18,200

201 Ygr2g| 99,000 78,700 20,300
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CHol: SEXIC HE (eH9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O=ZE0ISSEEMHLAL 26,088,000
s 23,155,000
= 2,933,000
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01 AtR2cldl 27,385 19,568 7,817
OFA2Y AR 2teld] 27,385
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